H & 0l & AHS B Ml A

20243 =0llah LB M S

A ZHASW
M NSEH g4zt

SRl A 2N &Y (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
M S 2,976,906 3,604,687 AB27,781
= 76,284
[ 700,000
Il 33,000
Al 814,626
Tl 1,352,9%
NSZH 43t 1,471,800 883,693 588,107
[ 700,000
AlH] 365,814
Tl 415,986
e 2N =8 1,471,800 883,693 588,107
= 700,000
Al 365,814
Tl 415,986
HEANE E AEIL ALSSEUSHHEEALY) 8,200 8,200 0
201 er2 3| 8,200 8,200
01 At2t2lt] 8,000 8,000
OAlZEd3t 24d 6,000
CANEFANENE2RE =E
250,000 x8IH*3! 6,000
OZEEX=z MH S 2,000,000& 2,000
2 S52g4l 200 200 0
OCUHMIIIAIY &elel2 nSREFES
200,000 200
ad gdah MY 16,000 17,000 A1,000
307 el2to| & 16,000 10,000 6.000
02 2B YAIAE £ 16,000 10,000 6,000
OAfot=t Aaf&0l AHetsl A3
16,000,000 16,000
HEANE SFHSHXSAAS 11,628 11,628 0
Altl 5,814
Tl 5,814
307 elztol & 11,628 11,628 0
Albl 5,814
Tl 5,814
02 2B YA HE X 11,628 11,628 0
OHSAE S HSHXIE 11,628,000& 11,628
AlHI 5,814
Tl 5,814
CIAE dd2UlaA AlEAY 1,400,000 800,000 600,000
[ 700,000
AlHI 350,000
Tl 350,000




A FHESH
M x|°mx1| 2o
SRl A 2N &Y (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
308 XXM SOl 1,400,000 800,000 600,000
= 700,000
Albl 350,000
Tl 360,000
13 S I2S0He 4 A AS A 1,400,000 800,000 600,000
OUIXE ARSZUIAA ABAR(BXH)
1,400,000,000& 1,400,000
= 700,000
Altl 350,000
Tl 350,000
KNS Eotetel 15,203 13,625 1,578
101 @124H| 8,165 7,965 200
M ORINZZ2NSE S 8,165 7,965 200
OSJI2ULH 23 8,165
23t 88,2723 x3&+52U+6E 7,945
NEZYRE= 7,945,000 *1.75% 140
LAHESRYES 7,945,000 1% 80
201 er23 | 528 350 178
01 At2t2ltl 528 350 178
o=t 22= M 528
dTl & 82=8 330,000 330
S0 66,0002 *30H A 198
203 =4l 3,510 3,510
03 A=A 2= 3,510 3,510
OSotetd ge=al 450,000 *90% 406
OXIAT &a3 J2=z
450,000 *90% 405
OZN2et= g2z 3,000,000 90tk 2,700
301 EetE NS 3,000 1,800 1,200
14 JIEt2a3 3,000 1,800 1,200
Osietd2Ega 13
50,000 *60IH A 3,000
HEI| EIIBA 20,769 20,769
101 @124H| 14,957 14,957
M ORIMZZ2NSE S 14,957 14,957
OAHEI BINEAM JIZAHMZZ2 X 14,957
JIAEHIE JlEs 213,337 x2r 5,761
YEX JIE2s 88,2723 *2rZ 2,384
H=ZARE JI2s
88,2723 x3& 20 5,297
SPHSEERES
13,442,0002 *4. 5% 605
QAL EHERES
13,442,000 *3.545% 477




2A:

M E N

M XSS 2435
S Aol 2N EE (G2 &2l)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
BQYTHRLS
477 ,000& *12.81% 62
- NEPYHREE= 13,442,000& *1.75% 236
AHEEREES 13,442,000 * 1% 135
201 LEt2AH| 5,812 5,812
01 AFR22teltl 5,812 5,812
QA HIIHAF A& HE S 5,812
- BAEEE S 360,000 360
= el 66,0002 *x16= 1,056
- AHI X 2ton0] B 165,000 *20 3,300
HHI2 X 10ton0| CF 274,000 x4 1,09%
MAR=S 123,160 27,510 95,650
= 29,575
AlHI 6,000
2| 87,585
PNES:Fa g P NE= 123,160 27,510 95,650
= 29,575
AlH] 6,000
2| 87,585
J|lge-dst X 80,010 3,010 77,000
201 LBr2AH| 2,200 2,200 0
01 AFR2t2lHl 2,000 2,000 0
OXEAIM HIHE S 2,000,000& 2,000
02 S324H| 200 200 0
O2ZEE=sAS NExYFE2
200,000& 200
203 R =&IH| 810 810
03 AIHF=RIHAR2=KIH| 810 810
OJIgX& &4 =X 900, 000& *90% 810
207 AFIHEH| 77,000 77,000
01 32| 77,000 77,000
Omeltre N 22 29
22,000,000& 22,000
OIS MsSH 7 Y
55,000,000 55,000
FAH= HHA=EXAIS 40,000 20,000 20,000
= 28,000
AlHI 6,000
2| 6,000
401 Al&EHILE0HH] 40,000 20,000 20,000
= 28,000
AlHI 6,000
2| 6,000




A BHA S
. MEAE
ol NFay AS (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 40,000 20,000 20,000
OMNASE LEDWMSAL 40,000,000 40,000
= 28,000
Altl 6,000
Tl 6,000
LPGEI| AFZIt+ AN 3,180 4,500 21,350
= 1,575
Tl 1,575
403 MR HHMSAHE01H 3,180 4,500 A1,350
= 1,575
-l 1,575
02 SISO St =2 A P E A I 3,150 4,500 /1,350
OLPGEI| AtESIt= AIEIHE
3,150,000 3,180
= 1,575
- 1,575
S-S 25 580,490 602,99 N22,506
= 38,789
Il 3,000
AlHI 245,687
Tl 293,014
S - Feh 3ET 580,490 602,99 N22,506
= 38,789
Jl 3,000
AlH] 245,687
Tl 293,014
RIS=E 2el 55,000 65,000 10,000
AlHI 20,000
Tl 35,000
307 el2to| & 55,000 65,000 10,000
AlHI 20,000
-l 35,000
05 212+ = 55,000 65,000 10,000
OUERIIA ASELE 200,000& *755 15,000
ORJIsE A8Es 40,000,000 40,000
Al 20,000
Tl 20,000
SS2SSNUHAA 16,800 16,800 0
= 5,040
Al 5,880
Tl 5,880
307 glztol & 16,800 16,800 0
= 5,040




SN BHTED
3N - =MY 25
e = - S0 ZEIG (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 5,880
Tl 5,880
05 2ItRIE = 16,800 16,800 0
OSEESSAUHAI
120,000& #1405 16,800
= 5,040
Al 5,880
Tl 5,880
RIls=S LAHIE N2 2,400 1,500 900
= 1,200
Al 600
Tl 600
307 glztol & 2,400 1,500 900
= 1,200
AltI 600
Tl 600
02 LB HAHEE 2,400 1,500 900
ORIISS ALY X<
150,000~ 162 2,400
= 1,200
AlHI 600
Tl 600
S=S5 10,800 10,800
201 2egh=3| 10,400 10,400
01 At2t2ltl 10,400 10,400
os2s= 22 10,400
E2s= Uy 448
10,000& *6005 6,000
- SESEST A 1,1002+1,000& 1,100
- Ss2el g9 66,000 5004 A 3,300
301 EtE NS 400 400
14 IIEt2 8= 400 400
ONSEESH BS4T
50,0002 x4 +23] 400
2020l sd2t == XN& 160,000 160,000 0
= 32,000
AlHI 64,000
Tl 64,000
307 elztol & 160,000 160,000 0
= 32,000
Al 64,000
Tl 64,000
05 2ItRIE =2 160,000 160,000 0




2A: ZMEED
M = Y B
e = - S0 ZEIG (Gt H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
O2DY0l 545 +2X/2
200,000 *8005 160,000
= 32,000
AlHI 64,000
-4l 64,000
2020 S4s XJMAHA 7= 1,000 1,000 0
AltI 800
el 200
201 Lt | 1,000 1,000 0
AlHI 800
=l 200
01 At 22|l 1,000 1,000 0
OZ020l =43 NJMA 2=
1,000,000& 1,000
AlHI 800
-4l 200
252 29 4,800 4,800 0
Alt] 2,400
sl 2,400
201 2| 4,800 4,800 0
AlHI 2,400
=l 2,400
01 At 22|l 4,800 4,800 0
o324 4,800,000& 4,800
Altl 2,400
=4l 2,400
ZAY LSS Al=dl R 3,000 3,000 0
307 2I2+01 A 3,000 3,000
05 QIZtRES 3,000 3,000
OZAd HLES Alstl X
2,000&*1,5005 3,000
ME 2L} BtHds= NI 1,200 1,050 150
AlHI 600
=t 600
307 gIzHol 1,200 1,050 150
Al 600
4| 600
02 QIZHBAAIEER 1,200 1,050 150
OAIS| X kXt Bhelsg Rzl X
1,200,000& 1,200
Al 600
-4 600
THS SAX Y AtF 2t 13,600 10,000 3,600
201 Ler2 | 13,600 10,000 3,600




SN BHTED
3N - =MY 25
e = - S0 ZEIG (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 13,600 10,000 3,600
OJt=dEE 2c 10,000,000& 10,000
OEFYY WA M5 HUDD4Y
60,0002 x1&+60& 3,600
FoE = A 800 800 0
= 400
AlH] 280
Tl 120
206 MH=H| 800 800 0
= 400
AlHI 280
Tl 120
01 =4l 800 800 0
OFA=Z =1 At AME 800,000 800
= 400
Alt] 280
Tl 120
RIIE HIZ(HEAY) 1,935 1,935 0
AlH] 474
-l 1,461
307 gl2to| & 1,935 1,935 0
AlHI 474
-l 1,461
02 QB AANEER 1,935 1,935 0
Oz (RIEHI=Z R
1,935,000& 1,935
Alt] 474
Tl 1,461
sol Malietd SH= X2 2,400 2,400 0
AltI 1,200
-l 1,200
307 212t01 & 2,400 2,400 0
AltI 1,200
-l 1,200
02 QB AANEE R 2,400 2,400 0
O=g2l Moliotd sHz K&
2,400,000 2,400
Al 1,200
Tl 1,200
=g SAAEM 3,000 3,000 0
Jl 3,000
301 2= 3,000 3,000 0
Jl 3,000




ENESE=}
= =pel B3
S - Bo 3YHYE EER=E)
M- B SRAEA) - HRAR - B2 of v G o HIDE2
14 IIEt2 8= 3,000 3,000 0
OsdHMEs NS 3,000,000& 3,000
Jl 3,000
CAl=sY 243 X (dE 42,000 59,600 A17,600
AlH] 21,500
Tl 20,500
201 er23 | 1,000 1,000 0
AlHI 1,000
01 At22t2l] 1,000 1,000 0
OkA=sY 23 1,000,000 1,000
Al 1,000
206 M=l 1,000 1,000 0
Altl 500
Tl 500
01 MHZH| 1,000 1,000 0
OzlE s XA 1,000,000 1,000
Al 500
Tl 500
307 elzto| & 40,000 57,600 A17,600
AltI 20,000
-l 20,000
02 2IZHBYAIHE A 40,000 57,600 A17,600
O=A=dEE =4 24,000,000 24,000
AlHI 12,000
-l 12,000
OL2BSH XFH
6,000,000 6,000
AlH] 3,000
T4l 3,000
Okl ARsy X2 )
10,000,000 10,000
AlHI 5,000
-l 5,000
SN2 A0 2435t 1,000 1,500 A500
Alt] 1,000
201 ZBt=Ehl 1,000 1,500 2500
AlHI 1,000
01 At2teltl 1,000 1,500 2500
OXHHEH HE=2 1,000,000 1,000
AlHI 1,000
&S = ZA 200 200 0
206 MH=HI 200 200
01 MZH| 200 200




SN BHEED
B =S4 B3
ol =5 =4 3gEIE (CHel: &2l
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
| Ostte 23 2A AR 200, 0002 200
ENH K2 167 187 0
= 149
Alt 19
-t 19
307 212t01 & 187 187 0
= 149
Al 19
-l 19
02 QIZHALAIHE L 187 187 0
OE22MEH X 187,000& 187
= 149
Al 19
- 19
TS SSWA WUA XA 61,868 60,924 944
Al 30,934
-t 30,934
307 212t01 & 61,868 60,924 944
Al 30,934
o] 30,9%
02 QIZHAAAHE XL 61,868 60,924 944
OZS S2I4 VYA X
61,868,000 61,868
Al 30,934
el 30,934
LR SHSAE KIE 192,000 192,000 0
Al 96,000
-t 96,000
307 212t01 & 192,000 192,000 0
Al 96,000
el 96,000
02 QIZHALAHE L 192,000 192,000 0
oYL FEASHE XL
192,000, 0002 192,000
Al 96,000
el 96,000
SX2el 6,500 6,500 0
201 23| 6,500 6,500
01 AFS2teltl 6,500 6,500
O EL L2 Es
100,000& 10 +63! 6,000
OsXIIAs 2 500,000 500
AR DB = 728,655 2,013,636 A1,284,981




SN BHTSD
HE: ALY D KA
el AR B (Gt H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 7,920
| 30,000
Altl 207,125
sl 483,610
AAKFR ZA 582,941 1,638,336 A1,085,39%
= 420
AlHI 158,018
-4l 424,503
SAPES X2 (M EANY) 100,000 150,000 250,000
Altl 50,000
sl 50,000
206 =8l 100,000 150,000 250,000
Altl 50,000
sl 50,000
01 MHZHl 100,000 150,000 50,000
O=&SX Y 2= 100,000,000& 100,000
Altl 50,000
=t 50,000
2 E4XYMH 2L K(MSAIY) 7,344 7,344 0
Al 4,080
-4l 3,264
307 2I2+01A 7,344 7,344 0
Altl 4,080
sl 3,264
02 QIZHBAAIEE R 7,344 7,344 0
O g4dxeld e K&
7,344,000& 7,344
Altl 4,080
=t 3,264
LA gel =5 K& 5,760 6,400 2640
AlHI 2,880
-4l 2,880
307 212+01 A 5,760 6,400 2640
Altl 2,880
sl 2,880
02 QIZtAAAIEE R 5,760 6,400 AB40
ouaogel H+= 2 5,760,000& 5,760
Altl 2,880
sl 2,880
Lol Rlzdl X3 1,200 0 1,200
Albl 600
=4l 600
307 QIZ2t01 A 1,200 0 1,200




SN MRS
HE: ALY D KA
Rl =M B4 EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
AlH] 600
- 600
02 QI AN X 1,200 0 1,200
oudoige dzdl X2 1,200,000 1,200
AlHI 600
-l 600
MR a2t 84,832 102,178 17,346
201 L= 84,832 101,726 N16,8%4
01 AFS2t2ltl 6,908 7,148 AN240
OZRA 1= & 100,000& »5 & #22 1,000
OB NTH 3
8,000& »4E »100& 3,200
ONgN=d RAE2+ 29
500,000 500
O=RelZdl =2 154,0002 « 122 1,848
Odl= 7 30,0002« 122 360
02 3224l 77,924 94,578 A16,654
Ot - d8 |Xl2el 69,021
M=K 4,577
= 201,819&+2= 4,441
Xt 73,3463 x1.85& 136
J|2= X 26,917
-2 (2E) 26,6292 %9000+ 23,967
-XHS(1.858) 11,7993 »2500+ 2,950
-HESYE A7 43,0012+23.85& 1,026
- 7RETY 36,501
-HR(RE)
1,386.0& %9000+ +192A12++0. 125 29,938
2 R(1.658)
1,600. 732500t +96A1 2H+0. 112 4,303
-2 (S FHI6.6%) 34,241,0002 6. 6% 2,260
Os4desgs Mol 200,000&*5& 1,000
O8&82= £ HA 6,103
=M S AEZE 70,0003 * 128 840
QIR MIEE 28,0502« 122 337
LS AEEZ 16,3802« 122 197
- ZIIZ A= 300,000 300
- Ng23d SH=b 4,428 1703 4,429
OSA gl &l R 1,800,000 1,800
RN EE 7,850 19,620 A11,770
201 =3 5,950 17,720 A11,770
01 AFS2t2ltl 5,950 17,720 A11,770
Ooel WM M 500,000 500




SN MRS
HE: ALY D KA
Rl ARHE SA EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O==AtS ALK HHE HIZ
2,5008 300 750
O#42I QHHERIE SX24
3,500,000 3,500
OBHMA M= 500,000 500
O4arBIE BIAN B40t MR
700,000 700
203 HR=AH] 900 900
03 A= PR F&IH| 900 900
O g+at Bu3 227
1,000,000 *90% 900
308 AFAIEHMSOIE 1,000 1,000
14 JIEIRE=2 1,000 1,000
OSHY DI Bx2
1,000,000 1,000
2AI0E JIBtAIE XT3 13,600 29,152 N15,552
AlHI 3,400
Tl 10,200
307 elzto| & 13,600 29,152 15,552
AlHI 3,400
-l 10,200
02 QB EANEEX 13,600 29,152 A15,552
OLA0IE JIEAIA T8
13,600,000& 13,600
Al 3,400
Tl 10,200
gz 2el 77,99 86,426 N8,427
101 @124H| 34,199 33,374 825
M IRINZZENSES 34,199 33,374 825
OZEE JIZtH 22 A+ 22 34,19
- QIABI(FE XL E)
88,2722 x2H*28 L6 29,660
- =XEE 300,000 2 600
- HESIH 300,000& 2 600
-mUASEE=s 29,660,0002 *4. 5% 1,335
-RUALEEHE 29,660,0002 *3.545% 1,052
QA= 1,052,0002%12.81% 135
nNESE= 29,660,000 *1.75% 520
MHEE S 29,660,000 * 1% 297
201 er23| 43,800 53,052 NQ,252
01 AtR2t2|HI 13,800 13,800 0
OEgr 2el 13,800
L8 === 150,000 « 128 1,800
Zgg gzl s 12,000,000 12,000




SN BHTSD
HE: ALY D KA
el AR B (Gt H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
02 S22l 30,000 39,252 N9,252
OZgxE7 332 30,000
HIIR3 1,720,000 122 20,640
oot Rs 1,100,000 «6& 6,600
- SHE 70,0003 122 840
- sl 160,000& « 122 1,920
olg Al &l 25,000 25,000
401 AlZHIZ S 0HbI 25,000 25,000
01 AlZH| 25,000 25,000
O0gr A= Rl 2= 25,000,000 25,000
A28 E RJH AZ2AME 163,000 220,000 /57,000
Al 81,500
el 81,500
307 212t01& 163,000 220,000 /57,000
Alt] 81,500
- 81,500
02 IHHAAEE X 163,000 220,000 /57,000
OAE0E FFH N2A
163,000,000& 163,000
Al 81,500
-l 81,500
s WA AE 3,200 3,200
302 Ol Mo &= 3,200 3,200
02 elZiIToll =S esS2d=2 3,200 3,200
O=xts WA K& 3,200
i kal] 80,000& »20H 1,600
==l 80,0003 20X 1,600
e Al 2 K& 22,500 22,500 0
Al 9,000
-l 13,500
307 212+01™ 22,500 22,500 0
Al 9,000
-l 13,500
02 QA HAEE X 22,500 22,500 0
OZ e 24 7Y XIS
22,500,000 22,500
Altl 9,000
- 13,500
Zed 22 B2 840 12,096 AT11,256
= 420
Alt] 210
- 210
307 212t01™ 840 12,096 A11,256




A BHA S
S oA JJ8E 2
el AR B (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 420
AltI 210
-l 210
02 QI AHANEER 840 12,096 A11,256
oded 252 2gXE 840,000& 840
= 420
AltI 210
Tl 210
LH==® & D12 Wl X 12,696 0 12,696
Albl 6,348
Tl 6,348
402 2I2E X201 & 12,696 0 12,696
Alt] 6,348
Tl 6,348
02 QI X2 AL EE(0IETHE) 12,696 0 12,696
OU=2 ofd J12H(ZHI) wHl X2
12,696,000& 12,696
AltI 6,348
-l 6,348
otter UIsHUH 29 57,120 57,120
201 et 3| 7,120 7,120
01 AtR2tc|Hl 1,000 1,000
OU=H4H 29 228 7Y
1,000,000 1,000
02 S5=2g4l 6,120 0 6,120
O332= 7 6,120
&Ies 250,000 x 122 3,000
Solr=ER=s 200,000& +62 1,200
sZ02el 1,920,000 1,920
401 Al HIZL 201 50,000 50,000
01 Al&H| 50,000 50,000
OU=HdH e 22t =4
50,000,000& 50,000
offeretd J 145,714 375,300 N229,586
= 7,500
Il 30,000
AlHI 49,107
Tl 59,107
HEEHIIZ Xl K& 25,000 30,000 /5,000
Alt] 7,500
Tl 17,500
401 Al HIZL 201 25,000 30,000 25,000
AlH] 7,500




A BHA S
HE: ALY D KA
ol ofratd &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-l 17,500
01 AlZ2H| 25,000 30,000 25,000
OOUBHDIE Hal K&
25,000,000& 25,000
Albl 7,500
- 17,500
TS AULMY D] 00 (HEALY) 50,000 60,000 10,000
AlHI 25,000
Tl 25,000
307 elzto| & 50,000 60,000 10,000
AltI 25,000
-l 25,000
05 212t =S 50,000 60,000 10,000
OZYUZE 0lMa|I| 20f
50,000,000 50,000
Altl 25,000
Tl 25,000
HAESAA 2Ae|(FHEXR) 10,714 58,300 A47,586
= 7,500
AlHI 1,607
Tl 1,607
201 =3 10,714 31,300 N20,586
= 7,500
AlHI 1,607
-l 1,607
01 AtR2t2lHl 10,714 31,300 AN20,586
OtlgEa71d 82 5,714,000& 5,714
= 4,000
AlHI 857
Tl 857
OigES 7 eHfE &X
5,000,000& 5,000
= 3,500
AlH] 750
Tl 750
Fefoer HolE s 60,000 0 60,000
Jl 30,000
AltI 15,000
-l 15,000
101 @12A4H| 59,000 0 59,000
Jl 29,500
AlHI 14,750
Tl 14,750
MU ORINZENSES 59,000 0 59,000




SN BHTSD
M LA D8 Ty
o2 ofard JH| (EEEE))
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OFalier Holg ta 59,000,000& 59,000
| 29,500
Albl 14,750
4| 14,750
201 L2 AH| 1,000 0 1,000
| 500
Albl 250
4| 250
01 At 22|l 1,000 0 1,000
OF«alier Holg tha 1,000,000& 1,000
J| 500
Altl 250
=t 250
HY2AZHI(ZHMEED) 72,801 76,852 24,051
JlE23a| 72,801 76,852 24,051
J|1E23&| 72,801 76,852 24,051
201 LB-2AY| 18,741 19,432 2691
01 At=R2teld| 18,741 19,432 MBI
ORN2E+EH] 8,424,000& 8,424
OF£4 23| 640,000& 640
OJ|2gR+d S| 9,677,000& 9,677
47,040 50,400 A3,360
47,040 50,400 A3,360
280,000 x28H 6 47,040
L2 7,020 7,020
|22 AR =] 2,700 2,700
OJ|122IHRF&| 3,000,000 *x90% 2,700
M PA2IHRFALI 4,320 4,320 0
ORN2ILRFA| 4,800,000 x90% 4,320




